1. Second-degree Function (MAS408).notebook December 09, 2022

Scconé~Degree Munction: FACTORED FORM

,J;(;):a(’f—xl)()ﬁ_%)

dis Parameter a (same as the standard and general
forms) ~ it lets us know if the Parabo]a opens up or

down and how wide .

X, and X% are the zeros of the function.



le.fr\ 5(x): - 3(X- ‘{Xx.'. :l")
whang 1s AR ‘j’uf\d‘\ on (?os(’\'\'vc/?

f’ﬂ' ps: [141]
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What is the vertex of the function f(x):—3(x—4)(x+5) 7

The zeros are 4 and 3.

Since the Parabo]a IS sgmmetrical, the vertex must be

exactly hallcwag between them 4 l’) ?o\r\ J - %, bv a;../

N

p=M TX T he average of the zeros

2 determines the middle. /
4+-5 -1 Ll x= =72
Sh= =5 and k= f(h)=-3(-0.5-4)(-0.5+5)
k=-3(—4.5)(4.5)
v('f:..) k=6075 © )

T he vertex of the function is V(—0-5,60-75).

m—
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What is the vertex of the function g(x) zé(x—S)(x—ZO)?

7 cros: {8,20}

_8+20
2

h 14

k=%(14—8)(14—20)

k=5(6)(0)=-18
I

T he vertex is V(14,—18).
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Coneastzseren .

b) general fuy
m Neeclhé’k -2,% f(x)=—5()€+l)_(x—,)

Nh=22tT 95 FOIL
2 f(x)=-5(x*—5x—14)
2) k=-5(2.5+2)(2.5-7) o f(x)=-5x>+25x+70
k =-5(4.5)(~4.5)
k=101.25

()=os(e-2sf viotas L]
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Convertf(x) 4)6—7)2 +9 into factored form.

a=-1
ind the zeros (letV = O).

2 + || £
0=—(x=7) 4 x= h¥| =
-7 ~2 Qﬁ- + m
N
9:(.76—7)2 - ?13

ingx—7

A:-1 Zeres {4, 1o} f(x)=-(x-10)(x-4)
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Conver‘t y= 3x” —35x—12 into factored form.

a=3 Fincl the zeros Gety ~ O>.

. 0=3x"-35x-12
) By Facgﬁé;%?)s o 2) Ouadratic Formula
0=3¢ 4+ x—36x—12 ¢! x:—(—35)i\/1225—4(3)(—12)
0=x(3x+1)—12(3x+1 6
O=(3(x+1)()x—12() ) p= BN 357

_ 2 x 3
3&*,‘0 _3 Xlz—% X2:12 x' (0 ’ b

 X-12:0"

W | —

y=3(x+

j(x-lz)
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Frowc!e a stuclg of the fLumpction f(x)z—%(x—3)(x+l3).

] ) E \?]ncreasing T"' oo “5‘1
Ran: 3_ ooJ 48‘3 \\';.‘_3-% Decreasm E 5 + °°C
| M "'? : -; X0 "-?( 5X'5) %

y~mtcrce t:
Nene, ki’q';x‘)zm {-13, 3¢

Positive: [?'3, 3] Axis of Symmetry _ﬂ_‘_x,::_?
Negotive: 21303,
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Provide a study of the function f(x) = 2x(x T 7).
ﬁf_ 2(x -0)(x+ %)

Dom: ]ncreasing: r~ 3":) T ”E

-3 D) L
Ran: mEzq’Sl + oD[ Decreasing:liﬁ_’_ﬂéﬂﬂ
Max: AN he-25 Y.intercept:
k= 204i)(ns) ’

0
Min: '2"‘-5 k= -245 / ero(s): {‘?'0}

Negative: _E ?', O]
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